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QUESTION 1

The company needs to define its management process for desktop image releases. Which tool should the architect
recommend for the image management process? 

A. Provisioning Services 

B. Hypervisor templates and snapshots 

C. Windows Deployment Services 

D. XenConvert 

Correct Answer: A 

 

QUESTION 2

Scenario: 

CGE decided to virtualize its infrastructure workloads and provide a virtual solution to all end users. The 

infrastructure workloads include Delivery Controllers, StoreFront servers, License Servers, and Microsoft SQL Servers
for databases. Why is separating workloads by roles, creating a resource pool comprising a maximum of 32 XenServer
hosts, and implementing multiple store repositories for virtual disks, XenMotion, high availability, and backups for
disaster recovery the best design solution? 

A. It ensures the logical separation of infrastructure and virtual desktop workloads, and facilitates management and
expansion capabilities. 

B. It provides workload flexibility to more efficiently leverage available resources within a resource pool, and facilitates
expansion options. In addition, daily backups create minimal downtime for critical workloads. 

C. It separates infrastructure and virtual desktop workloads according to resource usage characteristics to avoid
conflicting situations. In addition, it provides critical database services with sufficient workload-specific resources and
failover capabilities. 

D. It ensures the logical separation of all workloads and virtual desktops. In addition, the backup solution reduces the
risk of data loss and minimizes downtime. 

Correct Answer: D 

 

QUESTION 3

Scenario: 

CGE\\'s CIO asks a Citrix Architect to design a new Provisioning Services environment. Management asks about best
practices for storing master images to ensure scalability, performance, and high availability. Which solution should the
architect recommend? 

A. Configure a shared storage location (CIFS) on a Windows File Server for each regional datacenter. 
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B. Configure an iSCSI LUN on a Storage Area Network (SAN) for each Provisioning Services server. 

C. Configure an iSCSI LUN on a Network Attached Storage (NAS) device for each Provisioning Services server. 

D. Configure a shared storage location (CIFS) on a Network Attached Storage (NAS) device. 

Correct Answer: C 

 

QUESTION 4

How should the components be set up for this environment? 

A. Configure a NetScaler cluster. Place the StoreFront servers and Delivery Controllers in the internal network. 

B. Configure NetScaler high availability. Place the StoreFront servers and Delivery Controllers in the internal network. 

C. Configure a back-up vServer. Place the StoreFront servers and Delivery Controllers in the internal network. 

D. Configure GSLB for the StoreFront servers and Delivery Controllers and place them in the internal network. 

Correct Answer: A 

 

QUESTION 5

The architect recommended pooled desktop OS machines with Personal vDisks for the Nurses, Imaging and Radiology
user group. How should an engineer implement antivirus software on these desktop OS machines? 

A. Install the antivirus software into the base image. 

B. Deploy the antivirus package as an App-V application. 

C. Deploy the antivirus software through a Group Policy startup script. 

D. Install the antivirus software in the master Personal vDisk as a user-installed application. 

Correct Answer: A 
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